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1.

(A)

(B)

(C)

(D)

2.

(A)

(B)

(C)

(D)

3.

(A)

(B)

(C)

(D)

4. , 

( ) ?

(A) 2 (B) 3 

(C) 6 (D) 9 

5.

(A)

(B)

(C)

(D)

6.

(A) (B)

(C) (D)

7.

(A)

(B)

(C)

(D)

8.

(A)

(B)

(C)

(D)

9.

(A)

(B)

(C)

(D)

10.

(A)

(B)

(C)

(D)

11.

(i)

(ii)

(iii)

(A) (i)  (iii) (B) (i)  (ii)

(C) (ii)  (iii) (D)  (iii)

12.

(A)

(B)

(C)

(D)

13.

( ) 
(A) 2.5 (B) 25

(C) 58 (D) 60

14.

(A)

(B)

(C)

(D)

15.

(A)

(B)

(C)

(D)

16.

(A)

(B)

(C)

(D)

17. , 

.............

(A) (B)

(C) (D)

18.

, 

(A) (B)

(C) (D)

19. ( ) 

(A)

(B)

(C)

(D)

20.

i. a.

ii. b.

iii. c.
(A) 1-b, 2-c, 3-a
(B) 1-b, 2-a, 3-c
(C) 1-a, 2-c, 3-b
(D) 1-a, 2-b, 3-c

21.

(A) (B)

(C) (D)

22. 2016 



(A)

(B)

(C)

(D)

23. 2016 

(A) (B)

(C) (D)

24. 5 (

2022 ) 

(A)

(B)

(C)

(D)

25.

(A) (B)

(C) (D)

26.

(A)

(B)

(C)

(D)

27.

(A) (B)

(C) (D)

28.

(A)

(B)

(C)

(D)

29.

(A) 7 (B) 42

(C) 44 (D) 74

30.

– I – II

1. a.

2. b.

3. c.

4. d.
(A) 1 – c, 2 – d, 3 – a, 4 – b
(B) 1 – a, 2 – c, 3 – d, 4 – b
(C) 1 – b, 2 – d, 3 – a, 4 – c
(D) 1 – b, 2 – a, 3 – d, 4 – c

31.

(A) (B)

(C) (D)

32.

(A) (B)

(C) (D)

33.

(A)

(B)

(C)

(D)

34.

(A) (B)

(C) (D)

35.

(A) (B)

(C) (D)

36.

(A)

(B)

(C)

(D)

37.

(A) (B)

(C) (D)

38.

(A) (B)

(C)

(D)

39.

(A)

(B)

(C) (D)

40. CaOCl2 

(A) (B)

(C) (D)

41.

(A)

(B)

(C)

(D)

42.

(A)

(B)

(C)

(D)

43.  6000 

(A) 1 2016

(B) 19 2016

(C) 31 2016

(D) 1 2017

44.

(A)

(B)

(C)

(D)

45.

I. 2020 - 

II. 2016 - 

III. 2012 

(A) I II

(B) I III

(C) II III

(D)

46.

?

(A) (B)

(C) (D)

47. 2016 

(A) (B)

(C) (D)

48.

(A)

(B)

(C)

(D)

49.

(A)

(B)

(C)

(D)
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50.

(A) (B)

(C) (D)

51.

(A)
(B)

(C)
(D)

52.

(A) (B)

(C) (D)

53

(A) (B)

(C) (D)

54

(A)
(B)

(C)
(D)

55

(A)

(B)

(C)

(D)

56

(A)
(B)

(C)
(D)

57

(A) (B)

(C) (D)

58

(A)
(B)

(C)
(D)

59.

(A) (B)

(C) (D)

60.

(A) (B)

(C) (D)

61.

(A) (B)

(C) (D)

62.

(A) 6 (B) 4

(C) 3 (D) 2

63

(A) (B)

(C) (D)

64

(A)
(B)

(C)
(D)

65

(A)

(B)

(C)

(D)

66

(A)

(B)

(C)

(D)

67

(A)

(B)

(C)

(D)

68 &

(A) (B)

(C) (D)

69

(A) (B)

(C) (D)

70

(A) (B)

(C) (D)

71

(A) (B)

(C) (D)

72

(A) (B)

(C) (D)

73 76

73

(A) (B)

(C) (D)

74

(A) (B)

(C) (D)

75

(A) (B)

(C) (D)

76

(A) (B)

(C) (D)

77 79

77

(A) (B)

(C) (D)

78

(A) (B)

(C) (D)

79

(A) (B)

(C) (D)

80

(A) (B)

(C) (D)

81

(A) (B)

(C) (D)

82

(A) (B)

(C) (D)

83

(A) (B)

(C) (D)

84

(A) (B)

(C) (D)

85

(A) (B)

(C) (D)



86 88

86

(A) (B)

(C) (D)

87

(A) (B)

(C) (D)

88

(A) (B)

(C) (D)

89

(A) (B)

(C) (D)

90

(A)

(B)

(C)

(D)

91.

(A) (B)

(C) (D)

92.

(A)

(B)

(C)

(D)

93

(A) (B)

(C) (D)

94. 13-13 
11-11 

(A) (B)

(C) (D)

95.

(A) (B)

(C) (D)

96 100

—

96

(B)

(B)

(C)

(D)

97

(A)

(B)

(C)

(D)

98

(A)

(B)

(C)

(D)

99

(A)

(B)

(C)

(D)

100

(A)

(B)

(C)

(D)

1 2

/ /

1.

(A) (B)

(C) (D)
2. 101 : 10201 : : 107 : ?

(A) 10707 (B) 10749
(C) 11449 (D) 11407

3 4

/ /

3. (A) (B)

(C) (D)
4. (A) 69 (B) 59

(C) 61 (D) 53

5.

1. Ropped 2. Roster
3. Roasted 4. Road
5. Roller
(A) 35412 (B) 45312
(C) 34512 (D) 43512

6 7

6. BCF, CDG, DEH, ?
(A) EFI (B) EFG
(C) DFI (D) EGI

7. 2, 5, 12, 27, ?
(A) 53 (B) 56
(C) 57 (D) 58
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8. 'P 3 Q' 'P, Q ', 'P 5 Q'
‘P, Q ’, 'P 7 Q' 

'P, Q ‘P 9 Q’ ‘P, Q
', J 3 L 9 N 3 O 5 K J, K

(A) (B)

(C) (D)

9. 10

5
3

(A) 50 (B) 40
(C) 30 (D) 60

10.

Suspensefulness
(A) Sense (B) Fuels
(C) Useful (D) Fullness

11. “BAD” “7”
“SAP” “9”

“BAN” 

(A) 8 (B) 3
(C) 4 (D) 6

12.

9 × 3 + 8 ÷ 4 – 7 = 28

(A) × – (B) + –

(C) ÷ + (D) × ÷

13. 4 * 5 % 3 = 8000 2 * 3 % 2 = 36

4 * 3 % 3 = ?
(A) 432 (B) 1728
(C) 36 (D) 144

14.

3 

5 

2 1 6 ? 
5 

2 
2 

7 31 145 

3 

4 
1 

(A) 43 (B) 49

(C) 59 (D) 71

15.

'I' 

I 

II III 

IV V VI
I II 

V 

(A) VI (B) IV
(C) II (D) V

16.

11 
19 

13 

4 15 

16 
19

12

(A) 23 (B) 19
(C) 12 (D) 15

17.

(A) (B)

(C) (D)

18.

(A) (B)

(C) (D)

19. AB 

A

B

(A) (B)

(C) (D)

20.

(A) (B)

(C) (D)

21 23

/ /

21. (A) (B)

(C) (D)
22. (A) 64 – 576 (B) 17 – 343

(C) 27 – 196 (D) 32 – 36
23. AK12, GV29, LF18, PO ?

(A) 34 (B) 31
(C) 42 (D) 40

24. 40
30 

50 
30 

(A) 65 (B) 70

(C) 80 (D) 90

25. “STUBBORN”
“VUTAAOSP” 

“SHIPPING” 

(A) TIJOOHPJ (B) QFOLLSLO

(C) TIJNNOJH (D) JITOOHOJ

26.

7 × 6 + 5 – 4 = 33

(A) –, × 4, 5 (B) ×, + 4, 5

(C) +, – 5, 6 (D) ×, – 5, 6

27.

(A) (B)

(C) (D)

28 29

28. Smart, Aspire, Castle, Abysmal, Accost, ?
(A) Shop (B) Class
(C) Showman (D) Duties

29. 0.05, – 0.1, ?, – 0.4, 0.8
(A) – 0.2 (B) 0.25
(C) – 0.25 (D) 0.2

30. 27 
20 



(A) (B) 

(C) (D) 

31. 80, 60, 90 70

(A) 300 (B) 230
(C) 220 (D) 290

32. CHANTED 

ZEXKQBA MAY 

(A) XIG (B) JXV
(C) OBI (D) XAV

33. 150

180 

70 

180 

(A) 80 (B) 220 

(C) 80 (D) 220 

34. A B 6 

A B

C 3 C 

12 

(A) 20 (B) 16

(C) 24 (D) 18

35.

(A) 6 (B) 12
(C) 15 (D) 18

36.

a _ c a a b _ a _ b c a a b _ a _ b _ a
(A) cbacba (B) bcacac
(C) acbaca (D) bbacaa

37. 14 (16) 18 33 (64) 25 25

(49) A ‘A’ 

(A) 32 (B) 18

(C) 24 (D) 32 18

38.

72, 65.7, ?, 53.1, 46.8
(A) 59.4 (B) 60.4

(C) 59.3 (D) 60.3

39. 4 

15

(A) (B)

(C) (D)

40. 19 + 2 × 2 + 3 = 369 23 + 2 × 6

+ 2 = 565 7 + 3 × 11 + 3 = ?
(A) 1674 (B) 1382
(C) 1268 (D) 1496

41. P Q P, S R, Q 

U U,

S 

(A) (B)

(C) (D)

42.

(?) 

7 6 3
2 5 1
8 9 4

115 273 ?

(A) 14 (B) 15
(C) 16 (D) 18

43. 2 

8 

6 

5 
17 

12 

15 

9

(A) 11 (B) 23
(C) 12 (D) 40

44. P, Q, R, S T 

P 

Q S P

R S

P R 

(A) Q (B) R

(C) S (D) T

45. 74 

27 7

(A) 40 (B) 41

(C) 42 (D) 44

46. 4 × 9 × 3 = 4 5 × 3 × 1 = 3 

9 × 9 × 7 = ?

(A) 5 (B) 6

(C) 7 (D) 9

47.

(?) 

4 88 
3 

7 
5 

2 

8 
104 6 ? 

5 5 
7 8 

3 

(A) 108 (B) 112

(C) 118 (D) 120

48.

A

B

D

E

N

O

(A)
A

E
D

(B)
A

O
B

(C)
N

O
B

(D)
A

D
E

49.

(A) (B)

(C) (D)

50.

?
(A) (B)

(C) (D)

51.

(A)

(B)

(C)

(D)
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52.

1. a.

2. b.

3. c.

(A) 1-c, 2-a, 3-b (B) 1-b, 2-c, 3-a
(C) 1-b, 2-a, 3-c (D) 1-c, 2-b, 3-a

53.

(A)

(B)

(C)

(D)

54.

(A)

(B)

(C)

(D)

55.

(A) (B)

(C) (D)

56.

(A) (B)

(C) (D)

57.

(A)

(B)

(C)

(D)

58.

(A) (B)

(C) (D)

59.

(A) (B)

(C) (D)

60.

(A)

(B)

(C)

(D)

61.

(A) (B)

(C) (D)

62.

(A) (B)

(C) (D)

63.

(A) (B)

(C) (D)

64.

(A) 8 (B) 32
(C) 64 (D) 104

65.

(A)

(B)

(C)

(D)

66.

(A) (B)

(C) (D)

67.

(A)

(B)

(C)

(D)

68.

(A) (B)

(C) (D)

69.

(A)

(B)

(C)

(D)

70.

(A) (B)

(C) (D)

71.

(A)

(B)

(C)

(D)

72.

2017 

(A) (B)

(C) (D)

73.

(A)

(B)

(C)

(D)

74. 2017

(A)

(B)

(C)

(D)

75.

(A)

(B)

(C)

(D)

76.

(A) (B)

(C) (D)

77.

(A) (B)

(C) (D)

78.

(A)

(B)

(C)

(D)

79.

(A) (B)

(C) (D)

80.

(A) (B)

(C) (D)

81.

(A) (B)

(C) (D)



82.

(A) (B)

(C) (D)

83.

(A) (B)

(C) (D)
84. Pick out the word which is misspelt.

(A) rein (B) neigh
(C) neither (D) neice

85. Choose the correct alternative and fill in
the blanks in the following sentences.
No ............... is good ............... .
(A) news; newses (B) news; news
(C) newses; news (D) newses; newses

86. Choose the appropriate meaning of the
idiom from the given choice.
To bell the cat
(A) to take lead in danger
(B) to tie a bell to a cat’s neck
(C) to be alert of the enemy
(D) to make noise

87. Choose the correct antonym of the
following word.
Virtue
(A) View (B) Vie
(C) Vice (D) Vex.

88. Choose the correct synonym of the
following word.
Accumulate
(A) Gather (B) Amass
(C) Collect (D) All of these

Direction [Q. No. 89 and 90] : Choose the
one which can be substituted for the given
words/Sentences.
89. Fear of closed spaces :

(A) Claustrophobia
(B) Aquaphobia
(C) Botanophobia
(D) Kleptomania

90. Words written on the tomb of a dead
person :
(A) Epigraph (B) Epilogue
(C) Epitaph (D) Etymology

91.

(A) (B)

(C) (D)

92.

(A)

(B)

(C)

(D)

93.

(A) (B)

(C) (D)

94.

(A) (B)

(C) (D)

95.

(A) (B)

(C) (D)

96.

(A)

(B)

(C)

(D)

97.

(A)

(B)

(C)

(D)

98.

(A)

(B)

(C)

(D)

99.

(A)

(B)

(C)

(D)

100.

(A)

(B)

(C)

(D)

1. (A)

(

)

2. (B)

1 1935

1934

22

3. (A)

( )

4. (A)

5. (A)

1200

2 000
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6. (A)

250 50

7. (D)

12

30

8. (C)

9. (A)

10. (D)

11. (B) 12. (D) 13. (B)

14. (C)

15. (A) 16. (C)

17. (B)

56

( )

(

)

18. (C) 15 2016

1000

19. (A)

1741

1742

1745

20. (B)

(

) 1959 60

1941

21. (B)

2000

14 15

22. (D)  23. (A)

24. (A) 5 (

2022 ) 

25. (B)

1937

1600

26. (C)

27. (D)



28. (C)

44

300A

12 35

29. (B) 42

42

(1976) 

•

•

•
51( ) ( IV

)

30. (C)

31. (A) 23 1757

22

32. (A)

1 200

33. (B) 34. (D) 35. (B) 36. (B)

37. (B) 38. (C) 39. (D)

40. (C) CaOCl
2
 

33%

41. (A) 42. (B)

43. (C)  6000 

31 2016 

44. (B)

45. (D)

46. (A) 8 2017

47. (A)

2014

28 2014

194 1

2014 10

50

2016

48. (B) 49. (A)

50. (D)

 2904 04

51. (A) 52. (A) 53. (D) 54. (D) 55. (B)
56. (D) 57. (D) 58. (A) 59. (B) 60. (A)
61. (A) 62. (A) 63. (A) 64. (A) 65. (D)
66. (B) 67. (C) 68. (D) 69. (A) 70. (D)
71. (A) 72. (D) 73. (C) 74. (C) 75. (A)
76. (B) 77. (D) 78. (B) 79. (B) 80. (C)
81. (A) 82. (D) 83. (C) 84. (A) 85. (D)
86. (D) 87. (B) 88. (C) 89. (D) 90. (B)
91. (B) 92. (B) 93. (D) 94. (B) 95. (C)
96. (D) 97. (C) 98. (A) 99. (A) 100. (C)

1. (D)

2. (C)

×101

101 10201

 ? = 11449

3. (C)

4. (A) 69 

5. (D)

Road  Roasted  Roller
          4              3              5

 Ropped  Roster
                                1               2

6. (A)

 ? = EFI

7. (D)

8. (C) J3L  J, L 

L9N  L, N 

N3O  N, O 

O5K  O, K 
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J L N O K

9. (B)

= x 

x – 10 = 
3
5

x


2

5

x
= 10

 x = 25 

= 2 × 25 = 50 

= 50 – 10 = 40 

10. (D) ‘Fullness’ 

‘Suspensefulness’ 

‘l’ 

11. (A)

BAD = 2 + 1 + 4 = 7

SAP = 19 + 1 + 16 = 36

= 3 + 6 = 9

BAN = 2 + 1 + 14 = 17

= 1 + 7 = 8

12. (D) 9 × 3 + 8  4 – 7 = 28

(D)

9  3 + 8 × 4 – 7 = 28

 3 + 32 – 7 = 28
 35 – 7 = 28
 28 = 28

13. (B)

(4 × 5)3 = (20)3 = 8000

(2 × 3)2 = (6)2 = 36

(4 × 3)3 = (12)3 = 1728

14. (D)

        2 × 3 × 1× 5 + 1
= 30 + 1 = 31

2 × 4 × 6 × 3 + 1

= 144 + 1 = 145

1 × 2 × 7 × 5 + 1 = 70 + 1 = 71

15. (A)

(I) 

(II), (III), (IV) (V)

(I)

(VI) 

16. (A)

= 19 + 4 = 23

17. (A) 18. (A) 19. (C)

20. (C)

21. (A)

22. (B)

64 6 × 4 = 24
 24×24 = 576

27 = 2 × 7

= 14
 14 × 14 = 196

32 3 × 2 = 6

 6 × 6 = 36

17 1 × 7 = 7
 7 × 7 × 7 = 343

343 

23. (B)

A K
 
1 + 11 = 12
G V
 
7 + 22 = 29
L F
 
12 + 6 = 18
P O
 

16 + 15 = 31

 ? = 31

24. (D) 

A 

B C 

D E

30 

50
 

40 

30 

AE = AB + BE

= (40 + 50) 

= 90 

25. (D)

S   T   U B   B O   R   N

V   U   T A   A O   S   P

–1+1 –1 +1

S   H   I P   P I   N   G

J   I   T O   O H   O   J

–1+1 –1 +1

26. (C) '+' '–' 5 6

7 × 6 + 5 – 4 = 33
 7 × 5 – 6 + 4 = 33
 35 – 6 + 4 = 33
 39 – 6 = 33
 33 = 33

27. (B)

(B) 

28. (D)

Duties 

29. (D)

×(–2) ×(–2) ×(–2) ×(–2)

0.05 –0.1 0.2 –0.4 0.8

 ? = 0.2

30. (A) 27 20 

= 3 + 31 + 30 + 31 + 31 + 30 + 20
= 176

= 
176

= 1
7

20 

= + 1 = 



31. (D)
(i) 80 + 90 + 60 + 70 = 300
(ii) 80 + 90 + 60 = 230
(iii) 90 + 60 + 70 = 220

290 

32. (B)
H

E

C

Z

A

X

N

K

T

Q

E

B

D

–3 –3 –3 –3 –3 –3 –3

A

A

X

M

J

Y

V

–3 –3 –3

33. (C)

E D

CB
A

18
0 

180 

70 

150 
AB = 150 – 70

AB = 80 

80 

34. (C)

-I
A   C    B          = 16

-II

A       B    C      
       = 24

35. (D)

= x 

= 
5

+ =
4 4

x x
x  

5
– 6

4

x
= x


5 – 4

4

x x
= 6

 x = 24

t 

 
5

× 24 +
4

t = 2 × 24

 30 + t = 48

 t = 18 

36. (B) 

a b  c a / a b c  a / a  b c a / a b c

a / a  b c  a

bcacac

37. (D)

(18 – 14)2 = (4)2 = 16

(33 – 25)2 = (8)2 = 64

(25 – A)2 = 49
25 – A = 7

A = 18

(A – 25)2 = 49
 A – 25 = 7

 A = 32

38. (A)

72 65.7 59.4 53.1 46.8

–6.3–6.3–6.3–6.3

 ? = 59·4.

39. (D) 

= 4 

4 15 

= 31 – 4 + 15 = 42

= 
42

0
7


15 = + 0

= 

40. (A)
19 + 2 × 2 + 3
 (19)2 + (2)3 = 369

23 + 2 × 6 × 2
 (23)2 + (6)2 = 565

7 + 3 × 11 + 3
 (7)3 + (11)3 = 1674
 ? = 1674

41. (A) 

P(+) Q(+)

S U(–)R(+)

U, S 

42. (B)

7 × 2 × 8 + 3 = 112 + 3 = 115

 6 × 5 × 9 + 3

= 270 + 3 = 273

3 × 1 × 4 + 3 = 12 + 3 = 15

43. (B)

44. (B)

R > Q > S > P > T

R 

45. (B) 27

34

74 – 34 + 1 = 41

46. (A)

4 × 9 × 3 = 4

 4 9 3  = 4

 16 = 4

5 × 3 × 1 = 3

 5 3 1  = 3

 9 = 3

9 × 9 × 7 = ?

 ? = 9 9 7 

 ? = 25  = 5

47. (D)

(3 + 5) × (4 + 7) = 8 × 11 = 88

(5 + 8) × (2 + 6)= 13 × 8 = 104

(5 + 3) × (7 + 8) = 8 × 15 = 120

48. (B)

A D (A) 

B E (D) 

N O (C) 

49. (C)



  |

50. (C)

51. (C)

52. (B)

1991

53. (D) 155

(i)

(ii)

1950 1967

1967

54. (D)

(

)

55. (C)

56. (A)

( )

1943

14 1945

57. (A) 58. (B)

59. (D)

60. (B)

61. (D)

3 (

) 3 (

)

62. (A)

299 793 458

3 /

63. (C) amp 

 SI 

64. (B) ( )



/

33

32

65. (A) 66. (B) 67. (C) 68. (A)
69. (A) 70. (B)

71. (D)

72. (A) 73. (A) 74. (B)

75. (D)

1733

76. (A) 77. (C) 78. (C) 79. (A) 80. (D)
81. (B) 82. (C) 83. (C)
84. (D) Neice – (Niece) Daughter of one’s

brother or sister ;
rein-check or (a horse) by pulling on
its reins
neigh – high whinnying  should made
by horse
neither – denotes choice in negative
sense (Conjunction)

85. (B) news; news
86. (A) 87. (C) 88. (D) 89. (A) 90. (C)
91. (B) 92. (B) 93. (D) 94. (D) 95. (B)
96. (D) 97. (A) 98. (A) 99. (A) 100. (B)


